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Question 1   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Section A


For questions 1 to 5, four options are given. One of them is the correct answer. Make your choice.


What does the digit 7 in 3751 stands for?

A) 7

B) 70

C) 700

D) 7000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 12th Jan 2020
Last Modified: N/A
QID#: 18,425,323

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

In 4287, the digit 4 is in the ____________ place.

A) ones

B) tens

C) hundreds

D) thousands
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Question 3   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Find the sum of 4178 and 865.

A) 3313

B) 4228

C) 4913

D) 5043
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Question 4   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Find the difference between 5000 and 1249.

A) 3751

B) 4131

C) 6249

D) 3911
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Question 5   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

A horse has 4 legs. How many legs do 7 horses have?

A) 11

B) 24

C) 28

D) 32
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Question 6   Primary 3 Math » Primary 3 Math (Term 1) 1 pt

Section B


Answer the questions.


Type seven thousand and thirteen in numerals.

Accepted answers:

7013
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Question 7   Primary 3 Math » Primary 3 Math (Term 1) 1 pt

What is the missing number in the number pattern below?


4921, 4821, 4721, __?___ , 4521

Accepted answers:

4621

Question Type: Free Text
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Question 8   Primary 3 Math » Primary 3 Math (Term 1) 1 pt

Arrange these numbers in order. Begin with the greatest. Put 'space' or ',' between your answers.


2908, 2980, 2890, 2809

Accepted answers:
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2980 2908 2890 2809

2980, 2908, 2890, 2809

2980,2908,2890,2809

Question Type: Free Text
Date Added: Sun 12th Jan 2020
Last Modified: N/A
QID#: 18,425,375

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 3 Math » Primary 3 Math (Term 1) 1 pt

5 children bought 35 pens.
They shared the pens equally.

How many pens did each child get?

Accepted answers:

7

seven
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Question 10   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

What are the missing numbers in the table below?


A) x = 48, y = 60

B) x = 52, y = 66

C) x = 60, y = 96

D) x = 72, y = 108
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Question 11   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Mr Mark baked some biscuits. He sold 246 biscuits and had 172 biscuits left. How many biscuits did he
bake?

Accepted answers:

418

418 biscuits
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Question 12   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Sara has $1247.

Joan has $681 less than Sara.

How much money do the two girls have altogether?

Accepted answers:

$ 1813

$1813

1813
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Question 13   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

3000 people were watching a basketball match. 1372 were men and the rest were women. How many
more women than men were there?

Accepted answers:

256

256 women
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Question 14   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

A baker bakes 74 cookies. He packs them into boxes of 8 to sell. How many boxes of cookies can he
sell at most?

Accepted answers:

9

9 boxes
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Question 15   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Section C


Answer the questions.


There are 1340 men, 1519 women and 1823 children at a stadium. How many people are there
altogether?


a) Choose the correct equations

A) 1340 + 1519 + 1823 = 4682

B) 1340 + 1823 = 3163

C) 1340 + 1519 = 2859

D) 1519 + 1823 = 3342
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Question 16   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

There are 1340 men, 1519 women and 1823 children at a stadium. How many people are there
altogether?


b) There are ________ people in all.

Accepted answers:

4682
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4682 people
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Question 17   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

The sum of two numbers is 3218. The smaller number is 1428.


a) Choose the correct equation to find the greater number.

A) 3218 + 1428 = 4646

B) 3218 + 3218 = 6436

C) 1428 + 1428 = 2856

D) 3218 - 1428 = 1790
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Question 18   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

The sum of two numbers is 3218. The smaller number is 1428.


b) Choose the correct equation to find the difference between the two numbers.

A) 3218 - 1428 = 1790

B) 1790 - 1428 = 362

C) 3218 - 1790 = 1428

D) 1790 + 1428 = 3218
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Mrs Laura had some apples.

She packed them into 7 equal packs of 6. 

She had 5 apples left unpacked.

How many apples did she have altogether?


a) Choose the correct equation.

A) 7 x 5 = 35

35 + 6 = 41

B) 6 x 5 = 30

30 + 7 = 37

C) 7 x 6 = 42

42 + 5 = 47

D) 7 + 6 = 13

13 x 5 = 65
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Question 20   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

Mrs Laura had some apples.

She packed them into 7 equal packs of 6. 

She had 5 apples left unpacked.

How many apples did she have altogether?


b) She had ______ apples in all.

Accepted answers:

47

47 apples
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Question 21   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

There are 44 more members in the Sports Club than in the Arts Club. 16 members left the Sports Club
and joined the Arts Club.

How many more members did the Sports Club have than the Arts Club?


a) Choose the correct equation.

A) 44 - 16 + 16 = 44

B) 44 - 16 + 44 = 72

C) 44 + 16 = 60
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D) 44 - 16 - 16 = 12
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Question 22   Primary 3 Math » Primary 3 Math (Term 1) 2 pts

There are 44 more members in the Sports Club than in the Arts Club. 16 members left the Sports Club
and joined the Arts Club.

How many more members did the Sports Club have than the Arts Club?


b) Sports Club has ______ more members than Arts Club.

Accepted answers:

12

12 more

12 members
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